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Correction: Theorem 8.5.3

The following argument, marked blue in the screenshot below, needs one extra step to work:

We need to be a little more careful, and replace the blue lines by the following argument:

Indeed, every u 2 U1 has infinitely many neighbours in some Cn, and hence in some

Gni �Gni�1 . Let ni be minimal such that u 2 U1 has infinitely many neighbours in

Gni �Gni�1 . Since ⇡ni was unfriendly, u has infinitely many opposite neighbours

in Gni under ⇡ni . However, by minimality of ni, our vertex u has only finitely

many neighbours in Gni�1 altogether, and hence u must still have infinitely many

opposite neighbours in Gni �Gni�1 under ⇡ni .


